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AR HATTIOITNRS

G ERIRVITES WATIGA(Arithmetic operator)

2. W@WWWE?I’(Comporison/Reloﬂonol operator)
3. FANGIPITe WATIGA(Logical (Boolean) operator)

. IR0 WATKGH(Assignment operator)

5. TN A6 (Boolean Operator)

6. CNFARN ATIOS (Membership Operator)

7. W30SO NTIOA (Identity Operator)

8. [RESIRGT AAIGA( Bitwise operator)
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IR IR WATCIGA(Arithmetic operator)

o -9 Y- wl 3eNre dRATNOH @W(Ari’rhmeﬂc operator)

SIGEOCEY]

+ (unary plus) X+y
X-y

* X * y

/ ( xly

% (Modulus) - X%y (Xly )

/l Floor division - xIl'y

ok (Exponent)- X**y (X ),
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SAIRAT: NMRATN JfFATAOF WA

x =10

y=4

print(x +y ='x+y)
#Output: x+y =14
print('x - y ='x-y)
#Output: x-y =6
print('x *y ='x*y)

# Output: x *y =40

print(x/y ='xly)
# Output: x/y =2.50
print(x /'y =" xl/ly)
#Output: x/ly=3
print(’x ** y =" x**y)

X **y =10000
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ISV HATIGI(Comparison/Relational operator)

12 1 OLOIEF OId LT QeI FALO I IMHON NATI6F BI0 2 | (BT

*TOd(condition) BA(H fef@Rig 46 =T True T False I FA|

ARATN FATMHON AATIEITAR
> Greater Than - True X=>Yy
< Less Than - True X<y
== Equal to - True X ==
1= Not equal to - True x!=y
>= Greater than or equal to - X>=Yy

True

<= Less than or equal to - True X<=Yy
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Xx=10
y=15
print(x >y is'x>y)

# Output: x >y is False
print(x <y is'x<y)

# Output: x <y is True
print(x ==y is'x==y)

# Output: x ==vy Is False

print(x !=y is' x!=y)
# Output: x!'=yis True
print(x >=y is' x>=y)
# Output: x >=vy is False
print('x <=y is'x<=y)
shajeda Yeasmin.InstructoriComeuii @UtPUL: X <=y IS True




AGPITT Ao

ATRYTN and, or J3g not TATHGISTYZF GBI WATIGL(Logical operator) J&l
Y| ARYA AGHIET TATICTR-

and VO] WANTS true X True aandb

or (TR JH6 WAIS frue = True aorb

Nnot WATID false e True not a
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OAIRFVNS ARTN NG PIe] A6

a = True

L = False
print(‘a and b is’,a and ab)
# Output: a and b is False

int('a orbis',a or b)

# Qutput: a or b is True

print('not ais’,not q)
# Output: not a is False
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ARG A6

OIIRCIRCE OITe] IR T AN P Gy AR AARNCNO HATIGH(Assignment
operator) FIZS W |a = 10 GHF(0 ALY GATRNCNT ANTIG I GINATNT O 10 (F
AT SIHIIA o (O JHAIRN B | AR [[FFON G009 WANIOI AR (INN- g += 5
SYRTIACAR ST O] (5 B (TITFe AIIOI® AH2 OIICIACE I3 B 46 a = @

+ 5 G7 ST |
ARYTN JHAIRNTNS S ATAGA

SATIBA OARAT QAT
= x=5 x=5 3
= X+=3 X=Xx+5
- X-=3 X=x-5
= X *=5 x=x*5
/= X /=5 x=x/5
o= X %= 5 X=X%5
/1= x//=5 x=x//5
TS X **=5 X=X**5
&= X&=3 X=x8&5
= x|=5 x=x|5
Aﬁ_fedo Yeasmin, Instructor(Computer), BSP! XA=5 X=xA5
>>= X>>=35 X=x>>5




—,

I[N ACIGS (Boolean Operator)

HNTRYTN HOJ - TN (True/False) 612 J9 (T Boolean {1
Logical Operator I5IXMF Pl |

AR Boolean CHEGED 1{3\% -

1.True ( T must be Capital Letter )

2.False ( F must be Capital Letter )
ﬁmwwwww and , or, not |

3(AGt® and, or, not (F STNHT '‘Conjunction’ BeISIEEE

EIEL j?@ﬂﬂﬁ £I£I(.V(<IC<P ' 'Logical Conjunction’ 8 ¢l 3|
AR I ATOI(H2 (PG NS AT el (NN S|
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and 99 (v C g3
1. True and True is True

AN 'and' BT 1315 SISUTH B BT =0T, IR J71 TOTB S5 (True) T (T [ RIGT (TR L),
O FeTHA 91 AN S ST (True) TR (TS

>>>x=4 and 4 (4 =True and 4 =True)

>>> 4 (4 = True)

2. True and False is False

AL 'and’ RIAT 206 ALCF AP FT Z0e, I AN FL 0 SA05(True) TT WK AII 0! A6 N

(False) =T (T ¥+ TF), O FaATHe 1 [FoS fNAT (False) T (TN
>>>4 and 0 (4 = True and O=False)
>>> (0 (0 = False)

3. False and True is False =>0and 1 =0

. False and False is False =>0and0=0

Example

print(1 and 1)

print(1 and 0)

print(0 and 1)

print(0O and 0)
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or dqd (HCS3

1. True or True is True =>Torl=1
2. True or False is True =>1or0=1
3. False or True is True =>Qorl=1
4. False or False is False =>00r0=0
Example

print(1 or 1)
print(1 or 0)
print(0 or 1)
print(Q-or 0)

ot 49 (5HCas

1. not True is False =>not 1 = False
2. not False is True =>not 0 = True
Example

print(not 1)

print(not 0)
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(TN A6 (Membership Operator

AIRATH in 98 Not in ABR (NI WW(Membership operator) | (RICANT OJfe] 1 ONIGISEL string, list,
tuple, set G2 dictionary TN XY AR F N1 IHIR FAK G AR IO 2T [[GFHIRK0O OIS AR
(AT Bl(key)-a7 BARRS WY [FAT TOHIR

AT T IATRATN CTHIENN AT

in PpA(sequence)-aF N O/ ORIk AR True ([ | 5in x
not in EA(sequence)-g9 NS Wi/ OI{TIR[e AN AR True R({| ‘ 5 not in x

e ATRYTN (VRN TATCIG
list=1[1,2,3,4,5]
if (2in list):
print("2 exist in the list")
else:
print("2 is not exist in the list")
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NIEWCIRU Wﬂmﬁ?l’élden Operator)

WWWWWWWWQ Wmlﬂﬁw@ﬁ
WIRCGH0 WATIGT ICICRS

1. is

2. is not

AT WGB3 O TR0 SN Y, (TNR 7o A G & 720! ORI & Oie]od
CETCRHTN ATIO P (TS

print ("a and b have same identity")
else:
print ("a and b do not have same identity")

Output : a and b have same identity
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201G ST I (76 FIF AN FIH (MY 5 JG606 Mz
a=20
91= 2]

if (aisnotb):
orint ("a and b have different identity")
Se.

orint ("a and b do have same identity")
O (ATATT AN FK (MTET

WIS MtERe a and b have different identity
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[RESRG WAIGA( Bitwise operator)

AT AROG2 AT [RESARG WATIH HAC® AN | NG [RESTEG WANIGF BTAF o756 (RS (el
VNP1, (NI (BRIt x = 10 (JIRNITHC® 0000 1010) 18 y = 4 (AR 0000 0100)

SATCI6F NI T
& AND SATGIBIET AND SIHTA54; Wi§ 1 XTI T 7 3B (Input
Line) 1 |
| OR FAFGIHITET OR ATAGR; WATS (ICHFN AF BT fIB (Input Line) 1
XA 1 XTI
A XOR ATGIFIE XOR SATAGT; W1 TH fITOIG JA3 41 fIB (Input
Line) 1 T ©(J2 VYT 1 T(J|
~ NOT ATGIFIE NOT HATCAGF; WATS 0 ATHTH 1 432 1 ATHTA 0
Q|
<< Binary left shift ~ fIBQTATSE Iy fites AfATT (ReT= BT

>> Binary right shift fAoQtans o Mt JfFATT R8T G|
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fIBOMRTT AND WMTABLA] IIIX4-
a=10

b =4,

print(a&b)

ARG OR(| ) WATTABA 99 TIIZT4-
a=10

b =4,
print(a | b)
XOR(A) SATCAGA 49 TFIZF-

print(aAb)
fAB8MR T complement(~) SATTAGA 47 IIIRN4-
CICRICNT ST N G ROSTMRG FAIHCNE =0T -(N+1)
print("complement",~10)

print("complement",~-20)
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fAB SR Left Shift( <<) AANTTAGA & fAGSTRGT Left Shift( >>) TATTAGA

orint(a<<2) # Binary Left Shift A6 |

(@>>2) # Binary Right ShiffSIATCIGd

e UMW a<<?2 G333 a>>2 M 12 T4 W A3 Ol JACAT AR |
a d9 OJI<] 10 <2 10 49 A2N1H 1010; B B2 TN A =S
1010 00 1§ 40. WRIF BT BTN JAE 00 10 g 2 (S|
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AR WATCIGT (AATS™ & TCAI G Oo
WATTA6F (AATT>

ST SNCS (TN (197 7 FRICIMCHT T BN 8 OIS B [NT® I OV (ATATNS -
48 G2 A6 BT JF0! A IR ToTF TN g | |efig (372 NI (w2
A0 CHOING I N AP AFIEGH WATIOHT WA 63| J6T Ao
ST AR NN SR N g WA - AT FICH6F IO, OIS
ST/ TICATTND, 0N BN & WIS A7 (Y (197 & f[CISTITT19Y, 1[CA9Y, 9,
TS (ICRQ (ATANS - S fFG ATIOT ™R, ©I2 (STATT NANLHHS
A TR (TN N6 COOIN 7o (WY,

>>> False == False or True

True
>>> False == (False or True)

False

OATIT ALYV OOV == 7 WANGHIF or (6T (| =17 (N6 COBINC or
WA TAGHIR (ATICR FIEAN A6 A0 IFNG N WIBN AR
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Operator Precedence

The following table lists all of Python's operators, from
highest precedence to lowest.

Operator Description

. Exponentiation (raise to the power)

—-— = Complement, unary plus and minus
(meaethod nameas for the last
two are +{& and -@@)

. fy Ve, I Multiply, divide, modulo and floor
division

*+, - Addition and subtraction

o Right and left bitwise shift

F. 4 Bitwiseae 'AMND"

Bitwise exclusive "OR’

Bitwise 'OR'

im, not in, is, is not, =, <=, > >=_

Comparison operators, eguality

=, == operators, membership
and identity operators

not Boolean "NOT

and Boolean "AND’

or

Boolean "OR"

= e L N e T )y

Assignment opearators




AN WATIOF SOOI

Operator Associativity

division higher ower ___Multiplication
upera‘to r associativity assocoativity Dpe rator

100 / 10 * 10

| | | and *
both have the same precedence
but Left to Right (LTR) associativity

divide will happen first
as / has higher associativity

10 = 10

| |
|

MNow multiply will happen
as * has lower associativity

100 BG

. W
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